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1) Step Response of an RC Circuit

When the dc source of an RC circuit is suddenly applied, the voltage or current
source can be modeled as a step function, and the response is known as a step
response.

The step response of a circuit is its behavior when the excitation is the step
function, which may be a voltage or a current source.

The step response is the response of the circuit due to a sudden application of a
dc voltage or current source.

Consider the RC circuit in Fig.5.1 (a) which can be replaced by the circuit in
Fig.5.1 (b), where V is a constant dc voltage source. We assume an initial voltage
Vo on the capacitor, although this is not necessary for the step response.

R t=0 R

A + iy +

14 -::: \:' O — v I’r;“ [:-f) '\:,r'l i — if
(a) (b)

Fig.5.1 An RC circuit with voltage step input.
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Since the voltage of a capacitor cannot change instantaneously,

v(07) =v(0%) =V} 0.0)
where v(07) is the voltage across the capacitor just before switching and v(0%) is its
voltage immediately after switching. Applying KCL, we have

dv_l_v Vou(t) 0
d R

dv_l_ vk
e e

where v is the voltage across the capacitor. For t > 0, Eq. (5.2) becomes

awv v _

dt  RC RC (5.3)
Rearranging terms gives

3 MSc. Zahraa Hazim




Al-Mustagbal University
Department of Electrical Engineering Techniques
Class : Second
Subject : Electrical Circuits Analysis
Lecturer: Zahraa Hazim
1592 term — Lect. Transient Circuits

dv v—
dt  RC
odvdt
“Y—W. _RC (5.4)
Integrating both sides and introducing the initial conditions,
I ve) _ _ L
nw—=Wl, = T lo
In (@) = V) —In(Vy— V) = ——+0
r—V _i
In ﬁ = RC (5-5)
Taking the exponential of both sides
v =e T,  1=RC
Vo — 15
vV, = (Vp — Ve o/
r
cv(t) =W+ (Vg —We s, t>0 (5.6)
Thus,
o _ (Vo t<0
p® = {I«'; + (Vo —1)e ™, t>0 (5.7)

This is known as the complete response (or total response) of the RC circuit to a sudden
application of a dc voltage source, assuming the capacitor is initially charged. The reason
for the term “complete” will become evident a little later. Assuming that IV, > Vo, a plot of
v(t) is shown in Fig.5.2.

If we assume that the capacitor is uncharged initially, we set V; = 0 in Eq. (5.7) so that

0 t<0

U(t) = {I-"Ts(l _ E—L‘,."'!') L > 0 (58)
which can be written alternatively as
v(t) = V(1 — e Mu(t) (5.9)
This is the complete step response of the RC circuit when the capacitor is initially uncharged.
. : . cd
The current through the capacitor is obtained from Eq. (5.8) using i(t) =d—tv

We get
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t
i) =cL=CSye, T=RC,t>0
dt T
: Ve _
() =—Ze Y Tu(D) (5.10)
Fig.5.3 shows the plots of capacitor voltage v(t) and capacitor current i(t) .
v(D) vl(f) A i(0) 4
L
A TR Vor- R
— 7
- 0 ;E 0 I
0 t (a) (b)

Fig.5.2 Response of an RC
circuit with initially charged

capacitor.

Fig.5.3 Step response of an RC circuit with
initially uncharged capacitor: (a) voltage
response, (b) current response.

Rather than going through the derivations above, there is a systematic approach—or
rather, a short-cut method—for finding the step response of an RC or RL circuit. Let us
reexamine Eq. (5.6), which is more general than Eq. (5.9). It is evident that v(t) has two
components. Classically there are two ways of decomposing this into two components.
The first is to break it into a “natural response and a forced response” and the second is
to break it into a “transient response and a steady-state response.” Starting with the natural
response and forced (a) response, we write the total or complete response as

vV =v, —Vf
where v, =

5

Complete response = natural response + forced response

stored energy independent source

(5.11)

Voe /™ and vy = V(1 — e~"/7)
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We are familiar with the natural response v,, of the circuit, as discussed response, (b) current
response. in Section 2. v is known as the forced response because it is produced by the
circuit when an external “force” (a voltage source in this case) is applied. It represents what
the circuit is forced to do by the input excitation. The natural response eventually

dies out along with the transient component of the forced response, leaving only the steady-
state component of the forced response.

Another way of looking at the complete response is to break into two components—one
temporary and the other permanent, i.e.,

Complete response = transient response + steady-state response

temporary part permanent part
or
V=V = Vg (5.12)
where v, = (V, = V,)e™ %" and vss = V,

The transient response v; is temporary; it is the portion of the complete response that decays
to zero as time approaches infinity. Thus,

The transient response is the circuit’s temporary response that will die out with
time.

The steady-state response vy, is the portion of the complete response that remains after the
transient reponse has died out. Thus,

The steady-state response is the behavior of the circuit a long time after an
external excitation is applied.
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The first decomposition of the complete response is in terms of the source of the responses,
while the second decomposition is in terms of the permanency of the responses. Under
certain conditions, the natural response and transient response are the same. The same can
be said about the forced response and steady-state response.

Whichever way we look at it, the complete response in Eg. (5.6) may be written as

v(t) = v() + [v(0) — v()]e~t/* (5.13)
where v(0) is the initial voltage at t = 0+ and v(o0) is the final or steady - state value.

To find the step response of an RC circuit requires three things:

1. The initial capacitor voltage v(0) .

2. The final capacitor voltage v(oo) .
3. The time constant z.

We obtain item 1 from the given circuit for t < 0 and items 2 and 3 from the circuit for
t > 0. Once these items are determined, we obtain the response using Eq. (5.13). This
technique equally applies to RL circuits, as we shall see in the next section.

Note that if the switch changes position at time t = to instead of at t = 0, there is a time
delay in the response so that Eq. (5.13) becomes

v(t) = v(®) + [v(ty) — v(cw)]e tto)/ (5.14)
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Example 10: The switch in Fig.1 has been in position A for along time. At t = 0, the
switch moves to B. Determine v(t) for t > 0 and calculate its value att = 1sand 4 s.

Solution: For t < 0, the switch is at 30 L B 4KQ
position A. The capacitor acts like an o o—AMA
open circuit to dc, but v is the same . L

as the voltage across the 5 — ki 24V
resistor. Hence, the voltage across the

capacitor just before t = 0 is obtained |
by voltage division as

5
5+3

v(07) =

(24) = 15V Fig.1
Using the fact that the capacitor voltage cannot change instantaneously,
v(0) =v(07) =v(0*) = 15V

For t > 0, the switch is in position B. The Thevenin resistance connected to the capacitor
is Ry, = 4k{2, and the time constant is

T=R;p,C=4x103%05x 1073 =25

Since the capacitor acts like an open circuit to dc at steady state, v(c0) = 30 V. Thus,
v(t) = v(0) + [v(0) — v(0)]e 7 = 30 + (15 — 30)e /2 = (30 — 15 %54V
Att=1,= v(1) =30 - 15¢7%° = 209V

Att=4,= v(4) =30 — 1572 = 27.97V
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H.W. 10: Find v(t) for t > 0 in the circuit of Fig.1. Assume the switch has
been open for a long time and is closed at t = 0. Calculate v(t) att = 0.5

t=0
2 Q) 6 Q
AN >j AN J\
'\;._,,«' >V

4.
v (I) v 33

Answer: (6.25 + 3.75e %YV for all t >
0,7.63V.
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Example 11: In Fig.1, the switch has been closed for a long time and is opened
at t = 0. Find i and v for all time.

h‘
Il
o

Solution: The resistor current i can be 100 _?__
discontinuous at t = 0, while the
capacitor voltage v cannot. Hence, it is
always better to find v and then obtain  30u(®) V f 20Q v =
i from v. |

N

F  (H)iov

T/

FNT

By definition of the unit step function,

Fig.1
30 0, t <0 g
e () {30 t =0

For t < 0, the switch is closed and 30u(t) = 0, so that the 30u(t) voltage source is replaced
by a short circuit and should be regarded as contributing nothing to v. Since the switch has
been closed for a long time, the capacitor voltage has reached steady state and the capacitor
acts like an open circuit. Hence, the circuit becomes that shown in Fig.2 (a)

for t < 0. From this circuit we obtain

=y

— 10V = — — —
v g t 10

—1A

Since the capacitor voltage cannot change instantaneously,

v(0) =v(0-) = 10V

For t > 0, the switch is opened and the 10-V voltage source is disconnected from the circuit.
The 30u(t) voltage source is now operative, so the circuit becomes that shown in Fig.2 (b).

After a long time, the circuit reaches steady state and the capacitor acts like an open circuit
(b) again. We obtain v(o0) by using voltage division, writing
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=——(30) = 20V 00 '
v(*) = 25310 BV vovy T
The Thevenin resistance at the capacitor terminals is 00 S n: (P 10v
b 1ol - 10X 20 20 ] 9" r
Th — || - 30 - 3 @
and the time constant is o
e I
201 5
T=Rppl=—-—=z5 r ‘ +i
3 4 3 30V (7) 2003  s==3F
Thus, ‘ ] B T

v(t) = v() + [1(0) — v()]e ™"/ ®

3 Fig.2 (a) for t<0, for t=0.
=20 + (10 — zo)e‘(ﬁ)"

= (20 — 10e~06t)y

To obtain i, we notice from Fig.2 (b) that i is the sum of the currents through the 20 — 2
resistor and the capacitor; tha

i = % + C% =1—0.5e7%% 4+ 0.25(—0.6)(—10)e % = (1 + e 2%*)A

Notice from Fig.2 (b) that v + 10i = 30 is satisfied, as expected. Hence,

_{mv, :{ui_{-m, t<0
(20— 10e7 ")V, t=0 (1 +e %A, t>0
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H.W. 11: The switch in Fig.1 is closed at t = 0. Find i(t) and u(t) for all time. Note that
u(=t) =1fort < 0andO0 fort > 0. Also, u(—t) =1 —u(t) .

Answer:

. 0,
() = [—2(1 +e 154, t>0

|

20V,

t<0

t<0

101+ e By, t>0

_av ()
20u(-HV |\:/.

s |

G) 3A

Fig.1
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2) Step Response of an RL Circuit

Consider the RL circuit in Fig.6.1 (a), which may be replaced by the circuit in Fig.6.1 (b).
Rather than apply Kirchhoff’s laws, we will use the simple technique in Egs. (5.11) through
(5.14). Let the response be the sum of the transient response and the steady-state response,

L= i+ g (6.1)
We know that the transient response is always a decaying exponential, that is,

i =AetT,  T=r 62)

where 4 is a constant to be determined.

The steady-state response is the value of the current a long time after the switch in Fig.6.1
(a) is closed. We know that the transient response essentially dies out after five time
constants. At that time, the inductor becomes a short circuit, and the voltage across it is zero.
The entire source voltage V,; appears across R. Thus, the steady-state response is

Iss ry (6.3)
Substituting Egs. (6.2) and (6.3) into Eq. (6.1) gives

- =t/T Vs

i=Ae U 4 2 (6.4)

We now determine the constant A ffom the initial value of i. Let Io be the initial current
through the inductor, which may come from a source other than V. Since the current through
the inductor cannot change instantaneously,

13 MSc. Zahraa Hazim
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i(07) =i(07) =1, (6.5)
Thus, at t = 0, Eq. (6.4) becomes

I A+L§
0 R

From this, we obtain A as

Substituting for A in Eq. (6.4), we get
. Vs Voo —
i(t) ==+ (-2 "t (6.6)

This is the complete response of the RL circuit. It is illustrated in Fig.6.2. The response in

i(t) = i(e0) + [i(0) — i(e0)]e ™" 6.7)
Eq. (6.6) may be written as

R 73 R I-(f) A
|t A
= +
- : .
7 (P L3 Tl & L2 o)
s\=o/ > N T V| T
- R
(b) .
ﬂ -
(a) 0 ;

Fig.6.1 An RL circuit with
a step input voltage.
Fig.6.2 Total response of the RL
circuit with initial inductor current Io.
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where i(0) and i(oo) are the initial and final values of i, respectively. Thus, to find the
step response of an RL circuit requires three things:

1. The initial inductor current i(0) att = 0.
2. The final inductor current i(co) .
3. The time constant 7.

We obtain item 1 from the given circuit for t < 0 and items 2 and 3 from the circuit for
t > 0. Once these items are determined, we obtain the response using Eq. (6.7). Keep in
mind that this technique applies only for step responses.

Again, if the switching takes place at time t = to instead of t = 0, Eq. (6.7) becomes

i(t) = i(o0) + [i(ty) — i(o0)]e~t7te)/" (6.8)
If I, = 0, then
0, t<0
i(t) = Eﬂ ey, £ 0 (6.9a)
R
or
i(t) == (1 - e *Mu(t) (6.9b)

This is the step response of the RL circuit with no initial inductor current. The voltage
across the inductor is obtained from Eq. (6.9) using v = Ldi/dt. We get

t —Ldi-v L -t _L t>0

vO=lg=hre TR

or

v(t) = Ve t/mu(t) (6.10)

Fig.6.3 shows the step responses in Egs. (6.9) and (6.10).

| 15 MSc. Zahraa Hazim
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i(i) A (1) A

/3 O b;
R

(a) (b)

Fig.6.3 Step responses of an RL circuit with no initial inductor current: (a) current
response, (b) voltage response.
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Example 12: Find i(t) in the circuit of Fig.1 for t > 0. Assume that the switch has been
closed for a long time.

Solution: When t < 0, the 3 — 2 resistor is short- =0
circuited, and the inductor acts like a short circuit.
The current through the inductor at t = 0—(i. e., just

. 20 30
before t =0) is AAAA AN *
¥ oY jl'
. 10
i(0-)=_=54 . 2
2 1oV () = + H
A = 3

Fig.1
Since the inductor current cannot change instantaneously,

This confirms the result.
i(0) =i(0") =i(07) =54
When t = 0, the switch is open. The 2 — (2 and 3 — {2 resistors are in series, so that

. 10
) =533~

The Thevenin resistance across the inductor terminals is
RTh = 2 + 3 - SH
For the time constant,

1
15°

T = —

1
L 3
Ry S

Thus,

i(t) = i(o0) + [i(0) — i(w0)]e V"
=24+ (5—2)e 15t =2+ 3e 154, t > 0

Check.- In Fig.1, for t > 0, KVL must be satisfied; that is,

1-D—5'+Ldi
= 5i E

di 1
5i + Lor = [10 + 1575 + [z (3)(—15)e %] = 10
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H.W. 12: The switch in Fig.1 has been closed for a long time. It opens at t = 0. Find i(t)
fort > 0.

I
L L5H

SR

vl

S

5Q 2 r=0

! ‘u’"‘-,.l""-\,
=
-]

Fa

| =t |

o
o
=

Fig.1
Answer: (6 + 3e-10t) Aforallt > 0. l
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Example 13: Att = 0, switch 1 in Fig.lis closed, and switch 2 is closed 4 s later. Find
i(t) fort > 0. Calculate i fort = 2sand t = 5s.

Solution: We need to consider the three bg S1l70 .
time intervals t < 0,0 <t<4,andt > 4 >§ — AW
separately. For 52 l "
t < 0, switches S; and S, are open so g ’ = )
that i = 0. sV () 20 = 3 5H
Since the inductor current cannot change I 1 [
instantly, 10v(2)
[

i(0-) =i(0) = i(0*) =0 L

For 0 <t <4, S is closed so that the 4 — Fig.1

N and 6 — 2 resistors are in series. (Remember, at
this time, Sz is still open.) Hence, assuming for now

that
S1 is closed forever,
[(o) =ﬂ=4A, Rrp =446 =100
4+6
L 5 1
T= R_Th =10°"7°
Thus,

i(t) =i(0)+[i(0)=i(0)]e /" =4+ (0-4)e 2 =4(1-e"2)4,0<t < 4

For t > 4, S2 is closed; the 10-V voltage source is connected, and the circuit changes. This
sudden change does not affect the inductor current because the current cannot change

abruptly. Thus, the initial current is

19 MSc. Zahraa Hazim
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i(4)=i(4") =4(1—e8) = 44

To find i(o0) , let v be the voltage at node P in Fig.1. Using KCL,

40—-v 10—v U 180
: T2 TeT ' 1!
, v 30

The Thevenin resistance at the inductor terminals is

4x2 22
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And
L 5 15
" TRy, 227 227
3
Hence,

i(t) = i() + [i(4) —i(0)]e 47t > 4

We need (t — 4) in the exponential because of the time delay. Thus,

i(t) = 2.727 + (4 — 2.727)e /1,0 = =
= 2.727 + 1.273e 146670t~ ¢ > 4
Putting all this together,
0, t<0
i(t) ={4(1—e%), 0<t<4

2.727 + 1.273e~14667(t-1) >4
Att =2,
i(2)=4(1-e" =3934
Att =5,

i(5) = 2.727 + 1.273e 1667 = 3,024
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H.W. 13: Switch S1 in Fig.l is closed at ¢t = 0, and switch S is closed at t = 2s.
Calculate i(t) for all t. Find i(1) and i(3) .

Answer: t=2
0, t<0 Sj
i(t)={2(1-e%), 0<t<2 317< 10Q |
_ ~5(t-2) MWW
4.6 =1.Ge , E>2 rzvo 20Q 1 l:(r)
i(1) = 1.99974, i(3) = 3.5894. sa () 150 3 sq
@ 3 3
Fig.1
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Thank you very much
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